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Problem solved? An example of human inertia

So if the problem has been known since the 1990s and a solution was proposed in 1998, surely the world has fixed the problem, right? Wrong. As of 2014 only 3.5% of the worldwide internet traffic is IPv6. The rate is growing, but it is not growing fast enough. If it continues to increase at this slow rate, our technological and economic progress, which – I think we can all agree – depends heavily on the internet and its ability to connect people everywhere in the world, may very well be stopped when the internet can’t grow any further. 

“Why haven’t we fixed the problem yet?” you ask. There are various technical and financial reasons for the adoption rate of IPv6 being so low. But the biggest problem is probably one of awareness and understanding the problem. Most businesses and consumers do not understand the need for switching to the new protocol, and since the switch requires investing time and money, a good many people are reluctant to invest in fixing a problem they do not understand. 
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